Q o= 7| 4EE(K10-38=)
- o5 2l I ~ 2l |
SR A (527|7k 20244 102 192 174 ~ 10 20 17A))

[20244 10 19Y 17A| 2E ]

> LT|7HE

O (23) HHA7A, Oi=a2 AotA Hg=20] UKL AN, 550
SEAYM 5SF22 0|50 17|l 7HEAR2|of S0, T 2 S2|ZELIC

O U = SSXYM Sz o|Ssts 17| 7HgA2|o S0, & RS

14kt2 =30 AP82 10km O g YL|LE 2=5(198)2 =

ol Z|X/x[217]2 (O ol Z=Hmm)

(LH2h 13 /18

> 2l 7IdoE

O Ho
AT
H =.Hi=
AlZHE ZH|S o2
£ T IO 15K ojs | 20kToly | 25kToly | 30kTOY | 22 S Goop | Mebum [ Poor
aa 199 20
17 18 19 20 21 22 23 00 o1 02 03 04
4
ZZ/EuE
awas A 4 L L L L L L L L y.
;};2’“, == == =210 =210 =210 =210 =210 =210 =210 =210 =210 =210
=S , HiE: 10 S &, 81Z:0 =, 81Z0 = HE0 &, 8E0 &, 8iZ:0 o, HIZ:0 =, HE0 &, 81E0 &, 8iZ0 =, 8iZ0
H=EE3 Hi=E3 Hoi=3:20 £H=S:20 Hi=E20 Hi=E:20 Hoi=3:20 AH=S:20 Hi=E20 Hi=E:20 HHES20 AH=S:20
022 3330 9330 B0 E&70 EE70 70 B0 EE70 EE70 70 B0 EE0
/GUST B4110 24110 B0 E£110 B4110 24110 B0 E2110 24110 24110 E4110 E£110
(kt) GUST:20 GUST: 20 GUST:20 GUST:20 GUST:20 GUST:20 GUST:20 GUST:20 GUST:20 GUST:20 GUST:20 GUST:20
20¢
05 06 o7 08 09 10 1 12 13 14 15 16
ekl
s L L L L L L L L L L L L
S =10 =z ==z == =z =210 ==z1) ==1p =z =210 ==z ==
SHE 300 630 S0 50 30 3,630 S0 S0 S0 3,650 S0 S0
HOHES20 =320 HOH=E120 EHHES:20 HHES120 =320 HOH=3120 EHHES:20 HHES120 =320 =S 20 EHHES120
)2 E&70 B0 ET0 E10 EET0 E¥T0 ET0 EE10 EET0 E¥T0 EET0 EE10
JGUST E£10 E£10 E£10 Z200 E£10 E£10 E£10 Z200 E£10 =410 E£110 Z£110
kt) GUST:20 GUST: 20 GUST: 20 GUST: 20 GUST:20 GUST: 20 GUST: 20 GUST:20 GUST:20 GUST: 20 GUST: 20 GUST:20
X EZ/MHH|ZE L DS sk S 2+2 olOls Cto| = ktal SIXRIT AL X I ol o
XS5Z/EUE2 SLE SF 20| tiet BiES 2|0|5HH, thel= kY (O ‘53 4= 530| 4kt = 20))

EN=)
O HIAY
KEL7|Y S BEO| T AMSH A2 2571878 ST 0IX|@mokmagoknofA] =holg = QUELICE
X 2= A17| ho| EHEIR}, TSP Ol FAXHS 7} HIZE|QIS T 0f 1t (TEL 032-740-2855 / FAX 032-740-2817) 2 L2{ZFA|7|
B LI}




